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lll Semester B.Com. Examination, April/May 2023

(NEP)
COMMERCE
Paper — 3.2 (DSC) : Business Statistics
Time : 2%2 Hours Max. Marks : 60
Instruction : Answers should be written completely either in English
or Kannada.

SECTION - A

Answer any five sub-questions. Each sub-question carries 2 marks : (5%x2=10)

1. a) Give the meaning of simple average.
b) How range is calculated ?
c) If Q, =60.125, Q, = 62.6875 and Median = 61.345, V(”{ﬁf‘:ﬂ VIRST . \
find Bowley's coefficient of skewness. S ) Dren’
d) Give the meaning of outcome.

e) Why Fisher’s index number is called “ideal” ?

g) Ifb,=0.8 and b, =0.45, find r.

SECTION -B
Answer any three questions. Each question carries 4 marks : (3x4=12)

2. Form a frequency distribution from the following data by exclusive method taking
four as the width of the class :

10 i s 1§ 22 11 16 19 24 29 18
25 26 32 14 14 20 23 g7 30 12
15 18 24 36 18 15 21 28 33 38
34 13 10 16 20 22 29 19 23 31

P.T.O.
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3. The following data is available for 10 innings of T20 cricket of two teams :

Runs scored by RCB | Runs scored by CSK
Mean 210 186
Variance 14400 15625

Correlation co-efficient between runs scored by RCB and runs scored
CSK = 0.36. Compute two regression equations. Also estimate the runs 8¢or&d
by RCB when CSK scored 250 and runs scored by CSK when RCB scored
200 runs.

4. Calculate mean deviation (From mean) and its co-efficient : /\‘% E
Marks: 59 32 67 43 22 17 64 55 47 80 25 F7 ey

A
5. From a pack of 52 playing cards, a card is drawn at random. What is t‘hét;-:}’jc_’f___
probability that it is either queen or ace ? Ly

6. Construct consumer price index number for the following data by family budget

method.

Commodities | Units Units consumed in 2015 | Price per unit (Rs.)
2015 2022

A Quintals 5 quintals 1200 2800

B Kg 25 kgs 20 35

C Litre 20 litres 120 150

D Meter 25 meters 50 65

E Unit 20 units 100 200

SECTION=C
Answer any three questions. Each question carries 10 marks : (3%10=30)

7. Compute the Mean, Median and Mode from the following data :

r:'n‘::') 100-200 | 200-300 | 300-400 | 400-500 | 500-600 | 600-700 | 700-800
No.

o. of 5 10 16 32 10 8 2
workers
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8. Find Mean, Mode, S.D. and Karl Pearson’s coefficient of skewness for the
following data :

4a:
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Kids perfamily | O | 1 | 2 [3 ]| 4 6
No. of families 7 |10 (16 |25(18 | 11 | 8
9. Compute Fisher's Ideal Index Number.
It 2021 2023
gt Value Quantity Value Price
A 300 150 480 4
T - B 50 10 80 8
NFIRST 5:
L T 48 12 50 5
¥ LD 120 60 100 2
212 IS __E 60 20 105 3.5
(3] g

—10. In a class of Sri Subhash Chandra Bose College a preparatory examination is
conducted for 10 students in Mathematics and Statistics subjects. Calculate
the Karl Pearson’s coefficient of correlation (Take 40 in mathematics and 50 in
statistics as assumed means).

Marks in Mathematics

Marks in Statistics

45 35
70 90
65 70
30 40
90 95
40 40
50 60
75 80
85 80
60 50
11. Weights (in kgs) of Brothers and Sisters of a particular locality is given below
Weights of Brothers | 40 | 48 | 52 | 88 | 72
Weights of Sisters | 20 | 24 | 28 | 36 | 52

a) Find the two regression equations.
b) Estimate Brother Weight when Sister Weight = 80 kgs.

c) Determine the value of coefficient of correlation through regression coefficients.
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SECTION - D

Answer any one question. The question carries 8 marks : (1x8=8)

12. a) Find Mode graphically for the following frequency distribution :

Class interval : | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60

Frequency : ) 8 2 7 5 3
OR

b) Two judges Vijayaprakash and Rajeshkrishnan participated and assigned
marks in a singing competition as under for 9 participants.

Marks assigned by Vijayaprakash :

SingerRollNo. [ 1|2 |3 |4[5|6|7|8]| 9
Marks 48160 |72|62|56|40|39|52| 30 Sh o

Marks assigned by Rajeshkrishnan :

SingerRolINo. |1 |2 [3[4|5|6 |7 8|09
Marks 62|78 [65|70({38|84]60|32| 31

You are required to indicate the degree of agreement about the taste in ===
singing between two judges according to Spearmen’s rank correlation
co-efficient.

BNE UTS
<« el
NN — D
CRPYEAR 5 ¢oI -FIrent LEos. B ¢uE -TITT 2 Loz | (5%2=10)

1. &) ROY RTeTOOD WTF AR,
b) Berdonmy Bert BoR&REDNO 9

53 Q1 =60.125, C)3 =62.68/5 ds@ ngﬁﬁ: 61.345, =50 °O0S0 4.0 T’uﬁ?ﬁ?@éda’%
FOrROSHEROD,

d) BReEET QR0 ¥TF e,

6) $RO'S "o Bos oY LB Homd 0 FEeDLRLZE ?

f) N =8 @023 ZD? = 40, &ud Berd T@RoL0y MR o83 BordotBONoD.
g) b, =08 RO b, = 0.45 &I @abq BORIEGROWD,
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TN — W
CIRRYRTTR 3 TINeR wuZoR. B TITK 4 B! (3x4=12)

2. 3R éméjdm BES0N0T BNF TORIED T QB=03, e.-sasug ﬁ%o:baig{ ‘e BRI
DHRTE_ BCITOR.

10 17 15 22 11 16 19 24 29 18

25 26 32 14 (%% 20 23 27 30 y

15 18 24 36 18 o) 21 28 33 38

34 13 10 16 20 22 29 19 23 31

75 3. 20> 3o3ng T20 8847 10 ROQRER Rntad S5 §9NF08T ¢

-
—

RCB neaw ﬂnécc‘ﬂe:o CSK nvam 2n,e0° ned
fjeprkite 210 186

Ped 14400 15625

RCB neaw ddg{r{ed =028 CSK nieas ds.lmi IRIOT BRRowog nomwes = 0.36. N
QTR BRRT03069 ﬁmeﬁdmﬁeﬁm‘{ BoI& R0, Toriode CSK 250 dﬁg{ﬁféﬁg& neaTn
RCB neass ddgtﬁ@ail =02y RCB 200 daig{ﬁ%gt neaon CSK Reas d@ﬁﬁ@ 30T
DRE.

4. ROPRO HFOFOITY, (RoomD0ow) W02 T30 ROFOBERRY, BOrRELEWD

woBnsd: 59 32 67 43 22 17 64 55 47 80 25

5. faxgwd 52 e3ne Yoo, mc\gwgmn (Men® adoﬁaa’% Zrioengs. ZlnoRento
T DA BNCOR BogIEReoN SR ?
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6. 8 FINT zﬁagozﬁr{@od Bo8300% 6:303356053 DT DoRB mEe WY mzsdcadg
BoRI&ROD.
nosnsh | PLEnd 2015 SO LT3R CNAT 2,07 PUER WS
TUBN (S».)
2015 2022
A gzomo‘ 5 %om@‘ 1200 2800
B #23 25 #23 20 35
C Der3or 20 Qo' 120 150
D Qoeso' 25 o’ 50 65
E TLe 20 TLEnsd 100 200 9
,,;;
bt Bl
%
OINIYTTTR 3 @’%ﬁ@ﬁ g% B3 3110 S0BNED (3%10=3
S L
7. 8N SR&S0200T KTXKD, mgss 02 LBOROB ﬁmﬁooﬁaaﬁg{ BoRIBEBOWD |
1)
(25.) 100-200 | 200-300 | 300-400 400-500 | 500-600 | 600-700 700-800
ST
mﬁ‘ 2 10 16 32 10 8 2

8. #9R DeACS Bnkictoon HmRS, WERE HOPE0, v BERT w8y
RUFF QLTI ORT WY ROmoERE, JomikRe0 !

T8 BUOLEOR Y

0

1 2R e

3| 4

BotvowWnY :Soasd

10 | 16

25| 18

11
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9, QRC* T3 STSF m%oéafﬁgt BoT0&HROWD.

2021 2023
e o) BRI o) W3S
A 300 150 480 4
B 50 10 90 6
C 48 12 50 5
D 120 60 100 2
E 60 20 105 35

10, B¢ Roupa wors iRt Bl Womd IonEche nrds T ResmToR, HRLIVE,
10 o, @rrivn FHTF AT THot§ ooy RARCRNYE. U QOLO'RT ¥RT BY
RoreGE MR oERRe Bomdl a0 (Mtdznd), 40 o83 RosT,TRRE, 50 ) NekAs

TooROoITRN TONREIR).

7. /o niedg wosn TosR TR LoBned

& 4 45 35

v 70 90
65 70
30 40
90 95
40 40
50 60
75 80
85 80
60 50

11, woth ROFR BEes HRpecIced ®8) = dola elevble m(mmq,) W QeRen!
rRANoT 3N 40 | 48 | 52 | 68 | 72

neAcmoehs 3a 20 | 24 (28| 36 | 52

8) SO@> ARNYEDH TROLHSENVRS JomdLROD.
b) BRresood Sed = 80 ¥ elaply TR TS BRETY, VOO =R
c) WT,[IFI RyE5 0BRE TREB BEROWCRHT MOFOEE BIPYTS), DD O
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Sethpts ol
IRTYTIOTTR Lowd TITT YVZ0. TIoKw 8 BOFMYSY, TRV ! (1x8=8)

12. a) 391 QeRTHT FRESCWOT WRIFT FTOROODR) AusgoN/Testo JEoD Boews

Bor0%B0200 !

Cl: | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60

F: 5 8 12 7 5 3
Lot

PPNEGRAE 9 BOF RV Svgomed SOBNTR) VRO

b) @B SR MOTT DBWENTTT® FFY TotdeT® TRT

3
S0,

070 MRCT AFFOY,

DRITFTET® 300 QeRTO 90BN :
moodEs Ratents xosd 2 41567 9
20BN 48160|72|62156|40(39|52| 30
oDozden® %aa:aa‘ 93380 BTV 208NLD
moda#dﬂaeodtéxoa% 1 | 2348 | -5-| BBl
OB 62|78 |65(70|38|84|60|32| 31

rD
Y
-

Tl

I8 FIdG;

L.

o
@1
J"_

\3

QO30 057 530 B eed BTH0LOE NI 0BT TFoT TROMOTOD £Sosed BB
a%da $eYFTOTC FRODT LBOTE TR S




